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QID : 201 - Select the related word from the given alternatives.
Night : Stars :: Day : ?

&g 7Tq fenedt # @ T 1&g & gl

I Rar =2

Options:

1) Sun

2) Blue

e

3) Work
Eac

4) Planet
ug

Correct Answer: Sun

Candidate Answer: Sun

QID : 202 - Select the related letters from the given alternatives.
BEH : KNQ: FIL:?

&g 71q fenedt # @ TEfda s18Ri @ gl

BEH : KNQ: FIL:?

Options:

1) ONM

2) NLJ

3) ORU

4) OMK
Correct Answer: ORU
Candidate Answer: ORU

QID : 203 - Select the related number from the given alternatives.

6:-3::-18:7?

g g freneut & @ Hefdq T & ghg
6:-3::-18:7?

Options:

13

2)9

3)-9

4)-6
Correct Answer: 9
Candidate Answer: 9

QID : 204 - Select the odd word from the given alternatives.

&g Tq freneat & @ fawm <1eg @t g
Options:

1) Cyan

S{TATH

2) Crimson

ESIG)

3) Indigo

Ha

4) Sky blue
ST el
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Correct Answer: Crimson
TG elel
Candidate Answer: Indigo

QID : 205 - Select the odd letters from the given alternatives.

&g 7Tq foenedt # @ fowm o1eRi &l g

Options:
1) JPV

2) Ulo
3) KQW

4) LRX

Correct Answer: UIO

Candidate Answer: UIO

QID : 206 - Select the odd number from the given alternatives.
Qg freredt & @ frwm dem &t g

Options:

1)8

2) 27

3) 100

4) 125

Correct Answer: 100

Candidate Answer: 100

QID : 207 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.
employ, oyster, errors, ornate, tennis, ?

e S1eRH féar T B, Fored ue eree e &1 iy Mg e # @ g wel fdened gfg St SrehH @t Oy el

employ, oyster, errors, ornate, tennis, ?
Options:

1) neptune

2) nature

3) terminate

4) isomer

Correct Answer: isomer

Candidate Answer: [ NOT ANSWERED ]

QID : 208 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
XXXXX0, XXXXO0X, XXXOXX, XXOXXX, XOXXXX, ?

e eRH foam T 8, Fored Ua us g 81 R e fenedt & @ ag 9l faehed gie St sreRd At i |

XXXXXO0, XXXXOX, XXXOXX, XXOXXX, XOXXXX, 2

Options:
1) OXXXXX

2) OXXXX0
3) OXXXOX

4) XXXXXX
Correct Answer: OXXXXX
Candidate Answer: OXXXXX

QID : 209 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
-7/4,-1,-0.25,?,5/4,2

Ten SrgeRd foa man 8, fored ues dven qw 81 Ry 1y el § & ag @l e gfg st srgerd ot g |

-7/4,-1,-0.25,?,5/4,2

Options:

1)0.5

2)0.75

3)0.25

41
Correct Answer: 0.5
Candidate Answer: 0.5
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QID : 210 - Dhruv's birthday is on Sunday 28th May. On what day of the week will be Sahil's Birthday in the same year if Sahil was born on 19th October?

@ I ST AAaR 28 7S Y 1 TS TTfeed o1 ST=H 19 IRER Y g1 ATt T A HA1fget o1 STATG qwTg H fondd e givmm?

Options:

1) Saturday
RIEGIN

2) Wednesday
gYAR

3) Thursday

TEAR
4) Sunday
faar

Correct Answer: Thursday
Candidate Answer: [ NOT ANSWERED |

QID : 211 - The weights of 4 boxes are 30, 20, 60 and 70 kilograms. Which of the following cannot be the total weight,in kilograms, of any combination of these boxes
and in a combination a box can be used only once?

TR T T g 30, 20, 60 3R 70 foratum g1 FrafafEa 7 © gawi & et «off Tatem & gat aot, fohettam & &t 91 181 61 TondT & SR Top I=IIo | Ueh ST Gah of aR T 3
AT ST Gehell 87

Options:

1) 180

2) 170

3) 120

4) 150

Correct Answer: 170

Candidate Answer: 170

QID : 212 - From the given words, select the word which cannot be formed using the letters of the given word.
PROXIMAL

Frfafea faemedt & & a8 et gAY St feQ 71 <15 o S7&RT &1 TRT Sech Tg] ST ST HehdT:

PROXIMAL

Options:
1) MOLAR

2) AXIOM
3) REALM

4) APRIL

Correct Answer: REALM

Candidate Answer: REALM

QID : 213 - If PONDERS is coded as ONCDQR, then how will MAT be coded as?

If& PONDERS & 5t ite & ONCDQR forar Siran 8, af MAT &t 33t sl & e forar simgem?

Options:
1) LZS

2) OLJ
3) AEG

4)LDZ
Correct Answer: LZS
Candidate Answer: LZS

QID : 214 - In a certain code language, '+ represents 'x', - represents '+, 'x' represents '+' and '+’ represents -'. What is the answer to the following question?
80x16+4+2-8=?

foreht spte wTeT &, '+ T A X' B, - BT Haerd '+ 8, 'X' T Aders '+ & SR '+ o Aaere - &1 el wer o StR R 82

80x16+4+2-8=?

Options:

1) 11

2) 64

3)30

45
Correct Answer: 5
Candidate Answer: 5

QID :215-1f 35 % 31 = 12, 92 % 30 = 14 then what is the value of 15 % 24 =?

afe 35 % 31=12,92 % 30 = 14 T 15 % 24 = ? &1 IH Fd Hifod |
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Options:

1)12

2) 25

3)33

4)28

Correct Answer: 12
Candidate Answer: 12

QID: 216 -

Select the missing number from
the given responses

few a1 faewedt 7 F o
"Er e

1111314205
34 | 39 1102
? 1275(103

Options:

1)172

2)75

3)77

4) 170

Correct Answer: 77
Candidate Answer: 77

QID: 217 - X and Y both start from a same point. X walks 17 m West, then turns to his right and walks 13 m. At the same time, Y walks 9 m North, then turns East and
walks 7 m, then turns to his left and walks 4 m. Where is Y now with respect to the position of X?

X 3R Y Ua g1 foig & geammd e &1 X uffm &1 ok 17 wiex o aeren 8, fthe 1o 31fest 8k 18 <11t & R 13 Hie e aeran 81 I8 9, Y ITR Y 9k 9 #iex 7k aeen &, v g
Y 3R S 1T § SR 7 Hiex deh IoidT &, o S1uet aTg o7 7S ST1aT & SR 4 Hiex dah goral g1 X &l FRAfT 4 o1 Y shgf R 8?7
Options:

1) 24 m West

24 e ufgm

2) 10 m East

10 Hrer gd

3) 10 m West

10 Hiex ufge

4) 24 m East

24 Hrex gd

Correct Answer: 24 m East
24 R gd

Candidate Answer: [ NOT ANSWERED |

QID : 218 - In the question a statement is given, followed by two arguments, | and II. You have to consider the statement to be true even if it seems to be at variance
from commonly known facts. You have to decide which of the given arguments, if any, is a strong argument.

Statement : Should songs be eliminated from Indian movies.

Argument | : Yes, Hollywood movies are hit despite having no songs.
Argument Il : No, songs help increase length of the movie.

U B g Sy 5 man & Swd omt &t ach | iR 11 Ry T &1 skl AT & O e I € 91 98 arEad: I e § 9 uedta giar gt simueht fRofa et § i Ry g i A @
F-TI/RIA-8 Teh ASTgd 8, Al h1E &l

FHYF : FT YR fOher! T 11 ol gerT ST A1y

T | : 31, Biciigs &l fhed &1g T 7 §1F & FTaeE foT gl 81
adh Il : 7T, T fhew i FaT Fg B e wed &
Options:
1) if only argument | is strong.

T | TSI B
2) if only argument |l is strong.

11 =T 81

3) if both | and Il are strong.
II& 1 adh | 3R || Figa &1
4) if neither | nor Il is strong.

& A1 A 7k | 3R 7 &1 7k || o7 &1

Correct Answer: if neither I nor Il is strong.

gfe; a7 at ek | 3fiR =1 & ach || FeTgE &1
Candidate Answer: [ NOT ANSWERED |
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Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

Arafaf@a seav i & & Fa @1 o=
Ru v wedd gl # 4 g e @
FATAT FAGT T HHAT?

[]

%)

O

Options:
1)

Q|

2

]

3

L

4

g

Correct Answer:

Q|

Candidate Answer:

]
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QID : 220 -
In the following figure, square represents Pharmacists, triangle
represents singers, circle represents Surgeons and rectangle represents
Mothers. Which set of letters represents surgeons who are either
mothers or singers?

frofafad srefa & arf siwy fassaref & gxiar g, & Bl
SR 8, 70 Acaiafbor®! ® ST § IR HGd AT ®f a2
aﬁ?ﬁmwmﬁm%ﬁmﬁm%m
TR &2

Options:

1) ED,G

2) AFC

3)ADC

4)H,B,C

Correct Answer: AFC
Candidate Answer: AFC

QID : 221 -

Which answer figure will complete
the pattern in the question figure?

FrfafEm # ¥ Fla- e angfa wea
I & afawT #1 g FE

/
i

=

Options:
1)
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Correct Answer:

Candidate Answer:

QID : 222 -

From the given answer figures, select the

one in which the question figure is
hidden/embedded.

& 7§ 3oy ampfadt A F 39 sl # glv
St wemr ampfar Bfa 3

Options:
1

2

Correct Answer:

Candidate Answer:
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QID : 223 -

A piece of paper is folded and punched as shown below
in the question figures. From the given answer figures,
indicate how it will appear when opened.

9o HiHfael # @ HEr Hers
g 3HA A Fe aur @ F 9 98
foFe Soor APl St fers &

Options:
1

LS T

D
ki

S M5 o]

D

]
A

O 0
D q
B - O
Correct Answer:
O 0
D q
B - O
Candidate Answer:
O 0
D q
B - O
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QID : 224 -

If a mirror is placed on the line MN, then
which of the answer figures is the right image
of the given figure?

I v gdor A MN @ 9 T@ S & g
Ieat it F § Fa-dr Il wea mpfa

FT TET Wiafera geEf?
M—— N

Options:

1

2

3)

4)

Correct Answer:

Candidate Answer:
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QID : 225 -

A word is represented by only one set of numbers as given
in any one of the alternatives. The sets of numbers given
in the alternatives are represented by two classes of
alphabets as shown in the given two matrices. The
columns and rows of Matrix-1 are numbered from 0 to 4
and that of Matrix-II are numbered from 5 to 9. A letter
from these matrices can be represented first by its row
and next by its column, for example 'K' can be represented
by 42, 34 etc and 'Z' can be represented by 76, 88 etc.
Similarly, you have to identify the set for the word 'RIDE'.

T T Haw UF BGA-EAR o g mar §, o faet
# A Bl oow A R oo §) et A Re av wemeaeg e
¥ 2t oot gEmr e v €, e B v v E et A §) g
& TR R uid & w0 # 4 W gl & 5 # 9§ 5
IS A OF NEW F R T ¥ O AR F v wew gEm
Zaffn 1w §1 TeERer & fw K F 42, 34 W @ A
T & w2 # 76, 88 R a@w auier o e ¥ sh g A
Fro weR # U 9 RIDE' & f¥v wp & agaeen 2

Matrix | Matrix 11
HVEE -1 HTEE -1l
o|la1f2]3]a s|s]7]a]s
0|6 | k[H|[a]|m]| s|lujolv|v]o
1|o|c|FlEels s|T1|v|alo]|T
2|l1]lc|L]o] 7lv]zlels|w
s|li|ulalelk slolvlelz]r
a|lelc|k]c|e s|lolv]|v]v]z
Options:
1) 30,23,85,66
2) 89,30,10,13
3) 10,24,68,78
4) 10,11,88,86
Correct Answer: 89,30,10,13
Candidate Answer: 89,30,10,13
QID:226-A_____ deficitis financed by net capital flows from the rest of the world, thus by a capital account surplus.

& a1 ol fakar @ v fae gt vars @ ot oS foram ST 8, 39 TR Uit @rar Shfae 9

Options:

1) Current Account
T, T

2) Savings Account
Tad et

3) Capital Account

Pinchksiel

4) Asset Account
Uiy arar

Correct Answer: Current Account
T T
Candidate Answer: [ NOT ANSWERED |

QID: 227 - is defined as the output per unit of variable input

1 ufd 3errs uRadT smTa & w0 & uRwifda forar Srar &1
Options:

1) Marginal product

drid Iarg

2) Production function

IATET theld

3) Total product

el I

4) Average product

3Nd I

Correct Answer: Average product

3T IaTE
Candidate Answer: [ NOT ANSWERED |

QID : 228 - "Taxes on lands and buildings" is listed inthe ______list given in the Seventh Schedule in the Constitution of India.

"gf AT 9 TR T &Tel] e IR o ST eht graet arggeh & & e g & gefleg &1
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Options:
1) Union
Fer

2) State

LUl

3) Global

fag

4) Concurrent
qHgT

Correct Answer: State
IS

Candidate Answer: [ NOT ANSWERED |

QID:229-Therearetotal ____ parliamentary seats (Rajya Sabha constituency) in Maharashtra.

TERIE H ot T e (arsmwr Rafe &) €
Options:
1) 11

2)19
3)10

41
Correct Answer: 19
Candidate Answer: [ NOT ANSWERED ]

QID : 230 - Akbar was years old when he became emperor.

SpaR ___ Y &Y omg # THTe a1

Options:
1)16

2)19
3)13

4)10
Correct Answer: 13
Candidate Answer: 13

QID : 231 - Sultan Mahmud was a ruler of. .

el HGHE hgl ol ATEh AT?
Options:

1) Persia

uRY

2) Ghazni

T

3) Lahore
AMER

4) Arab
3R

Correct Answer: Ghazni
ST
Candidate Answer: [ NOT ANSWERED ]

QID : 232 - As the river enters the plain it twists and turns forming large bends known as

ST &Y AT & H U3 et §, df 98 HieeR AN R g1 dvdt & e ____ deT Srar 81

Options:
1) crooks

2) flections
dehdl

3) rounds
dsh

4) meanders

Correct Answer: meanders
Candidate Answer: meanders

QID : 233 - The method of soil conservation in which stones, grass, soil are used to build barriers along contours and trenches are made in front of the barriers to
collect water is called?

&7 TREUT Y 39 AT il )T e & o wteeRaEnstt W AR S o foIg Teerl, 919 7aT ot SUAT foRa ST & SR Aferett & A STet Gensl ahet o folQ @18l a1 STTdl! 67
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Options:

1) Mulching

Hed ST

2) Contour barriers

3) Rock dam

I iy

4) Terrace farming
T

Correct Answer: Contour barriers

T

Candidate Answer: Contour barriers

T

QID : 234 - In male reproductive system, the testes are situated outside the abdominal cavity within a pouch called

BN S o3 & SRR H gE0T I T[ET & aTex Gk Ot # R gt & o Fed 8l
Options:

1) Glands

v

2) Scrotum

3) Testicular Lobules
T gTferent

4) Seminiferous Tubules
RENECEIREDL

Correct Answer: Scrotum

Candidate Answer: Scrotum

QID : 235 - Which of the following is not among the 3 main classes of Algae?
FrfafEa & & o a1 Sare & <9 v vt | 9 81 87

Options:

1) Chlorophyceae

FARIBIZET

2) Rhodophyceae

JSToRrgEt

3) Phaeophyceae

R

4) Gymnosperms
Correct Answer: Gymnosperms

Candidate Answer: Gymnosperms

QID : 236 - Sycon (Scypha), Spongilla (Fresh water sponge) and Euspongia (Bath sponge) are examples of which Phylum?

ISR (TTFHT), ST (s Seltg o) R gedforar (ary we) fohe 99 & 3arewor &2

Options:
1) Coelenterata

2) Platyhelminthes
SE

3) Ctenophora
ATER

4) Porifera

qifRERT

Correct Answer: Porifera

Candidate Answer: [ NOT ANSWERED ]

QID : 237 - If the force applied on the object is in the direction opposite to the direction of motion, the speed of the object

I foret a%g R TG 1Y e < fam awg 1 aifr it faradia fe=m & gicft & o ag hr onfey [
Options:

1) increases

25 stops

Fh ST &

3) decreases
i

4) no effect
g yTg et
Correct Answer: decreases

FHA BN &

Candidate Answer: decreases
A gt §
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QID : 238 - The Sl unit of acceleration is

@R T QIS A5 B

Options:
1) meters per seconds squared

ez ufa ot Yo

2) meters per second

ez ufd Yavs

3) seconds per meter
g ez

4) seconds per meter squared
Johe Tfa af ez
Correct Answer: meters per seconds squared

ez ufa ot Yo

Candidate Answer: meters per seconds squared
Yopvg

QID : 239 - In Microsoft Excel, the

ATSERIETE gaad J () e ch & &9 # UTRA AT # & Fa B A4 & dlerdt 81
Options:

1) LEAST

2) LESS

3) MIN

4) LOW

Correct Answer: MIN

Candidate Answer: MIN

() function returns the smallest value among the values passed as arguments.

QID : 240 - Fire extinguishers emit which gas?

fmTeR! & @ @ o A Feperd 82

Options:

1) Carbon monoxide
Ateiiaase

2) Chlorine

FAR

3) Carbon dioxide
P SEHTFATES
4) Nitrogen

Correct Agswer: Carbon dioxide
e SEHTFATES

Candidate Answer: Carbon dioxide

FHIE SEHTFATES

QID : 241 - What is formed when Magnesium is burnt?

ArfHfRA Pl ST TR T FHAAT 82

Options:
1) Baking Soda
ST Frer

2) Calcium Carbonate
fcRr

3) Ash
B

4) Vinegar
o=t

Correct Answer: Ash
qHH

Candidate Answer: [ NOT ANSWERED |

QID : 242 - The salt concentration (measured as salinity in parts per thousand), is less than % in inland waters.

% T A giell &1

TGUT AT FigdT (U §SIR 1T § Uit & ¥ & AT TAY), 31 WIeid st #

Options:
1)5

2)20
3)50

4)75
Correct Answer: 5
Candidate Answer: 5

QID : 243 - scheme launched by the Central Government aims to improve rural livelihoods and promote rural development and strengthen the
Panchayati Raj across the country.

e TR GRT YF I 15 ___ TSI ol Ie7 ITHIOT Srrshiferent 7 GuR aeT 3R aitor ferrs ot Sigrar 3T am QR 37 # Uit 1T i AvTed &eT &
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Options:

1) Pradhan Mantri Fasal Bima Yojana
e e ST g

2) Gram Uday Se Bharat Uday Abhiyan
T I5T § IR I A=

3) Stand up India scheme

ws oy sfear @hm

4) National RU URBAN Mission

At TRy 37 A

Correct Answer: Gram Uday Se Bharat Uday Abhiyan
T I5T § 9RA I&T

Candidate Answer: Gram Uday Se Bharat Uday Abhiyan
T I § YR I

QID : 244 - Who discovered Photon?

WIS &t @iet e &i?

Options:
1) George Crum
st oA

2) Albert Einstein
ST I

3) Henry Cavendish
R hafeaxr

4) Humphry Davy
guhI ST

Correct Answer: Albert Einstein
3T T
Candidate Answer: [ NOT ANSWERED ]

QID : 245 - Who is the winner of 2016-17 Premier League (Football)?

2016-17 HfaraR «fi (Feater) 1 fsar o &2
Options:

1) Leicester City

e &

2) Manchester City

AR &

3) Chelsea

Joeft

4) Manchester United

AR

Correct Answer: Chelsea

it

Candidate Answer: [ NOT ANSWERED ]

QID : 246 - Gol Gumbaz was designed by?

et e Rt foham sifSierfedra foma am?
Options:
1) Ustad Ahmad of Lahouri
& I e
2) George Wittet
Sifst fae

3) Henry Irwin
TR Rf

4) Yaqut of Dabul

g & AR

Correct Answer: Yaqut of Dabul
EEEERC T

Candidate Answer: [ NOT ANSWERED ]

QID : 247 - Which of the following was the winner of the Grammy Awards 2016 "Country Song of the Year"?

frafafaa & & 7 qeeR 2016 a9 o1 "&él G SiTth € 3R fastar &= 4 «r?

Options:

1) Chances Are
TR 3R

2) Girl Crush

T SRR

3) Hold My Hand
gies H1I 808

4) Traveller
Correct Answer: Girl Crush

ot haT
Candidate Answer: [ NOT ANSWERED ]
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QID : 248 - A] The author of the novel 'Bird Box' is Victor LaValle.
B] The author of the novel 'The Devil in Silver' is Josh Malerman.
C] The author of the novel 'Fellside' is Victor LaValle.

Which of the statements given above are not correct?

3] ITRTY "< Sieg" & AGeh [ AT &l

9] IU=TY "% 3 37 ReR" & @k ST ARE &
] IUAY "herdTsS" & Aaeh [ Ao &
SR & T i = Tgt 781 &2

Options:

1) Aand B

IR

2)BandC

FIRY

3)AandC
FaRE

4)A BandC
3, TR

Correct Answer: A,Band C
3, g3RY

Candidate Answer: [ NOT ANSWERED ]

QID : 249 - In April 2017, to address growing unemployment, which country has abolished the 457 Visa Programme used by thousands of temporary foreign workers,
a majority of them Indians?
318t 2017 #, Fod SRISHTRY ol AT ot & forg, fohe 321 7 goTRl sreurY fa2ft sifyent gy Sumiv foky 71w 457 et srrefers oY T o o, s @ sifdepisr TR 82

Options:
1) USA

RASI
2) Canada
HTST

3) Australia

4) UK
Correct Answer: Australia

Candidate Answer: USA
Juay

QID : 250 - SAARC Agriculture Centre (SAC) is based in which city?

TOUgREt Rt dhe (Tegeh) fore erex & fa &7
Options:

1) Islamabad

SEATHETG

2) Dhaka

@Ichl

3) Colombo
EAGE

4) Kathmandu
RISHIG,

Correct Answer: Dhaka
[Ea)

Candidate Answer: [ NOT ANSWERED |

QID : 251 - What least number must be subtracted from 3401, so that the sum is completely divisible by 11?

3401 # & M T AaH TE&AT TeTs ST AMfey, d1fs a8 A 11 @ gofa: farsa g
Options:

Correct Answer: 2
Candidate Answer: 3

QID : 252 - M is thrice as good as workman as N and together they finish a piece of work in 30 days. In how many days will M alone finish the work?

M, N & ¢ 7T 3T RITR & 3R ek |1 e & 30 Rt F el & a1 Ueh 9T QT &l 81 M 3rdhet o) fTt & S & &t qRr anemm
Options:

Correct Answer: 40
Candidate Answer: 40

QID : 253 - What is the area (in sq cm) of a regular hexagon of side 14 cm?

14 .. ¥[ST aTel Goh FHYSTRIUNT NS & &the (7f 9.7 #) a1 gm?
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Options:
1) 147v3
2) 441V3
3) 196v3
4) 294v3

Correct Answer: 294v3
Candidate Answer: 294v3

QID : 254 - If 2 T-shirts are offered free on purchase of 5 T-shirts, what is the effective discount (in %) on each T-shirt?

g 5 E-21E Y TT WR 2 E-21E AT 31 Y T=TehT el ST &, o Tedeh S-21€ TR Tt Be (% ) feet gift?
Options:

1) 40

2) 20

3)30

4) 50

Correct Answer: 40

Candidate Answer: 40

QID : 255 - The ratio of present ages of R and Sis 11:17. Before 11 years the ratio of their ages was 11:20. What is R's present age (in years)?

R 3R S & T 35 ol U 11:17 8111 I uget ST 39 ol SUTd 11:20 TIR Y afAr 39 (ast #) a1 82
Options:

1) 51

2) 33

3)22

4)40

Correct Answer: 33

Candidate Answer: 33

QID : 256 - The average marks of 40 students in an examination was 25. It was later found that the marks of one student had been wrongly entered as 73 instead of
37. What is the value of correct average?

ek TdietT d 40 ©T & 3fEd 3ieh 25 &1 a1¢ # I8 U1 74T o Teh BT o 3ieh Tetd ®U & 37 & Soi1g 73 & &0 & gof fohy 71U &1 9} 3ffgd 1 71 o 872

Options:
1)24.3
2) 24.1
3) 245
4) 24.7

Correct Answer: 24.1
Candidate Answer: 24.1

QID : 257 - A wholesaler sells a jacket to a retailer at a profit of 5% and the retailer sells it to a customer at a profit of 10%. If the customer pays Rs. 4158, what had it
cost (in Rs) to the wholesaler?

T ¥ieh STURY 5% & AT IR GaxT SR i Geh Siche SraidT & SR GaxT ATART 10% o A1 U UTeh i 38 sradl & | AfE TTgeh 4158 T &1 WA el g, T Uieh TR &l A1Td Hed
(F9) wmam?

Options:
1) 3500
2) 3400
3) 3300
4) 3600

Correct Answer: 3600
Candidate Answer: 3600

QID : 258 - A number is increased by 84, it becomes 107% of itself. What is the number?

Uoh Tt § 84 &t gfeg Y o1t 8, dt ag T 1 107% 8 ST1aT 81 9 T 82

Options:
1) 600
2) 900
3) 1500
4) 1200

Correct Answer: 1200
Candidate Answer: 1200

QID : 259 - If a boat goes a certain distance at 30 km/hr and comes back the same distance at 60 km/hr. What is the average speed (in km/hr) for the total journey?

3R e 1a 30 fheiefiex / wer it 1Y & ven A gt R SiTelt & 9k 60 fovetiefier / et it nfay & I gt wR aruw sieft 81 wyef amn & forg st w1y (for. =t /efer ) @ gvfie
Options:

Correct Answer: 40
Candidate Answer: 40

QID : 260 - An amount fetched a total simple interest of Rs. 3200 at the rate of 6.25 %/yr in 4 years. What is the amount (in Rs)?

Uk AfA 7 4 TTA | 6.25% / T il & I 3200 T T Yeh TTLROT <411 UTed fohat | ag A (3 H) et ghft?
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Options:
1) 13800
2) 11800
3) 12800
4) 14800

Correct Answer: 12800
Candidate Answer: 12800

QID : 261 - If x/2 - [4(15/2 - x/3)]/3 = -x/18, then what is the value of x?

af& x/2 - [4(15/2 - x/3)1/3 = -x/18, Tt x &1 A HT &?
Options:

1)-10

2)9/8

3)10

4)-9/8

Correct Answer: 10

Candidate Answer: 10

QID: 262 - If ad+bd3=152anda+b= 8, then what is the value of ab?

gizad+b3=1528Ra+b=8¢ dabaram @ g?
Options:

1)2

2) 11

3)-10

4)15

Correct Answer: 15

Candidate Answer: 15

QID : 263 - A fraction is greater than its reciprocal by 9/20. What is the fraction?

e {9 o1 e © 9/20 & 31fdes 81 g R s 87
Options:

1) 5/4

2) 4/5

3)3/4

4) 4/3

Correct Answer: 5/4

Candidate Answer: 5/4

QID : 264 - What is the sum of the first 9 terms of an arithmetic progression if the first term is 7 and last term is 55?

U gHIR 20ft & U 9 uel et g aar gh, afe ugerr ug 7 € ofR sifaw ug 55 81
Options:

1) 219

2) 137

3) 231

4) 279

Correct Answer: 279

Candidate Answer: 279

QID : 265 - What is the reflection of the point (5,-2) in the line x =-1?

@ x = -1 ¥ fdig (5, -2) @ ufafda Frgrm?
Options:

1)(-7,-2)

2)(5,0)

3)(7,-2)

4)(5,2)

Correct Answer: (-7 ,-2)

Candidate Answer: [ NOT ANSWERED ]

QID : 266 - Point A divides segment BC in the ratio 4:1. Co-ordinates of B are (6, 1) and C are (7/2, 6). What are the co-ordinates of point A?

fig A Y@mEE BC @t 4:1 srgura # faen1fSia et &1 B & fderian (6, 1) 3R C & (7/2, 6) &1 fig A & Fderies s 82
Options:

1)(4,3)

2)(4,5)

3)(2,5)

4)(3,5)

Correct Answer: (4, 5)

Candidate Answer: [ NOT ANSWERED ]

QID : 267 - What is the slope of the line parallel to the line passing through the points (5,-1) and (4, -4)?

(5,-1) 3R (4, -4) figaft & ATezm § o aTeft F@T & TR 3T Y &l R 872
Options:

1)-3

2)-1/3

3)3

4)1/3
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Correct Answer: 3
Candidate Answer: 1/3

QID : 268 - AXYZ is similar to APQR. If ratio of Perimeter of AXYZ and Perimeter of APQR is 16:9 and PQ = 3.6 cm, then what is the length(in cm) of XY?

AXYZ, APQR EHEY &1 i AXYZ &1 aRfer 3k APQR &t aRfay a1 3rgura 16:9 & 3R PQ = 3.6 4.1, g, a XY &t oferg (3.1, #) fra 82

Options:

1)4.8

2)3.2

3)6.4

4) 8.6

Correct Answer: 6.4

Candidate Answer: 6.4

QID : 269 - What is the value of (1/2) Sec 30° + v2 Tan 60°?

(1/2) Sec 30° + v2 Tan 60° T AT &1 &2

Options:

1) (1+3v2)/v3
2) (V3+2)/V3
3)v3+2

4) (V3+2)/2

Correct Answer: (1 + 3v2)/v3
Candidate Answer: (1 + 3v2)/V3

QID : 270 - A DEF is right angled at E. If m«D = 45°, then what is the value of cosecF X cotD?

A DEF, E R I5ehtoT 81 af m2D = 45° &, at cosecF X cotD @l A9 &1 8?2

Options:

1)1/v2

2)2

3)1/2

4)v2

Correct Answer: V2
Candidate Answer: v2

QID : 271 - If Sec 6 = 25/24 , then what is the value of Sin 67

Tfe Sec 8 = 25/24, dt Sin 6 &I A RT 8?2

Options:

1) 24/25

2)7/25

3) 24/7

4) 25/7

Correct Answer: 7/25
Candidate Answer: 7/25

QID : 272 -

Students fromdifferent countries (A, B, C, D, E, F) participated in a certain seminar. The pie chart shows.
haw many students came from each of the six participating countries. Study the diagram and answerthe
fallowing questions.,

fafée 2alf (A, 8, ¢, 0,6 /¥ 3T oE 7 o RfEee AWAR & s Tan oF =9 ag
galan & & op ofdeml 29t & @ gcde & fhad o e &) 58 3 & senaa w1 AR
fepafatad = &1 3ea1 &)

The biggest contingent of students was from which country?

ST T GaY TST & fohdd U AT?
Options:

Correct Answer: B
Candidate Answer: B
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QID : 273 -
Students fromdifferent countries (A, B, C, D, E, F) participated in a certain seminar. The pie chart shows.
hew many students came from each of the six participating countries. Study the diagram and answerthe
following questions.

fafée 2o (a8, 0.6 AT T TE o o Rt AWAR # s Ban oo 9 og
gaffan & f oF ofasmh 23t # @ uohw & femer o Ww ¥ 59 AR @ e w0
feratatad W=t & Ioo &1

What is the angular measure (in degrees) of the sector representing Country A?

321 A Y g1 aret & o et AT (RRaft &) o &2

Options:

1) 100

2) 25

3) 50

4) 120

Correct Answer: 100
Candidate Answer: 100

QID : 274 -
Students fromdifferent countries (A, B, C, D, E, F) participated in a certain seminar. The pie chart shows
how many students came from each of the six participating countries. Study the diagram and answerthe
fallowing questions.

fafere Zaft (4, 8, c, 0,6 F # AT oSt o Uw Rftee AR & s Grm o = O
zofan & & o ofgemlh 2et & @ aois # o o e 1 59 a0 & e ey A
fepatafas ma & 3eaw &)

By what count (in %) students from Country B at the seminar were more than the students from Country E?

AR # 327 B & o, 34 E & ST &l gor1 A foha 3tfden (% #) 42
Options:

1) 40

2) 200

3) 20

4)18

Correct Answer: 200

Candidate Answer: 200
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QID : 275 -

Students fromdifferent countries (A, B, C, D, E, F) participated in a certain seminar. The pie chart shows.
how many students came from each of the six participating countries. Study the diagram and answerthe
following questions.

fafeiet Zoff (A, B C 0.6 A # T oE A ow R AFER # ar B oo = @

Zuten # % op ofgsmh 2ot & F ovdw o fhe orw v #) 5§ AR @ aremas oy A
ferafatiag me=t &1 3o £

If the cost of total spending on transport for the seminar was Rs 9 lakhs and the cost of hosting the students was Rs 15000 per student then what was the ratio of
hosting cost of all the students to that of spending on transport?

I AR & g uRas R o @ 9 ArE % §o11 81 8k B Al Astamit TR 15000 Wi BT &l @1Td 311 g1 o @it S 6 Aerar 0 g3 e 8k uRkag | g g 2 o srguma
T Em?

Options:

12:5

2)3:2

3)1:1

4)1:2

Correct Answer: 3 : 2

Candidate Answer: 3: 2

QID : 276 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

He was such a (1)/ wonderful person (2)/ into so many ways. (3)/No Error (4)
Options:

Correct Answer: 3
Candidate Answer: 3

QID : 277 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

The magician placed the ball (1)/ underneath of his hat and (2)/ made a mystic sign above it. (3)/No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 2

QID : 278 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Our nation's into another country's war could pull us into the crisis.
Options:

1) intervention

2) intention

3) perfection

4) invention

Correct Answer: intervention

Candidate Answer: intervention

QID : 279 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Asafitness______ Deeptiis always preaching to her friends about the importance of working out.
Options:

1) enthusiasm

2) enthusiast

3) enthusiastic

4) enthusiastically

Correct Answer: enthusiast
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Candidate Answer: enthusiast

QID : 280 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Phonetic

Options:

1) Mute

2) Reticent

3) Silent

4) Spoken

Correct Answer: Spoken
Candidate Answer: Spoken

QID : 281 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

To Astound
Options:

1) To Bewilder
2) To Tranquil
3) To Placid
4) To Serene

Correct Answer: To Bewilder
Candidate Answer: [ NOT ANSWERED ]

QID : 282 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Disdain

Options:

1) Antipathy

2) Admiration

3) Derision

4) Scorn

Correct Answer: Admiration

Candidate Answer: Admiration

QID : 283 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Canonical
Options:

1) Approved
2) Official

3) Sanctioned
4) Unorthodox

Correct Answer: Unorthodox
Candidate Answer: [ NOT ANSWERED ]

QID : 284 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

It goes without saying

Options:

1) To Silently bear the injustice

2) Something which is implied to be obvious

3) There is no point in doing something after you are told to do it
4) Break long relationship with someone

Correct Answer: Something which is implied to be obvious
Candidate Answer: Something which is implied to be obvious

QID : 285 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To let someone off

Options:

1) To let someone fall

2) To leave someone in his present state

3) To release someone from blame

4) To refuse to answer

Correct Answer: To leave someone in his present state

Candidate Answer: [ NOT ANSWERED ]

QID : 286 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

May be they (has had) a fight.
Options:

1) were had

2) was having

3) were having

4) no improvement

Correct Answer: were having
Candidate Answer: no improvement
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QID : 287 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

We wouldn't want them to think we (doing) anything immoral.
Options:

1) was doing

2) were doing

3) done

4) no improvement

Correct Answer: were doing

Candidate Answer: were doing

QID : 288 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Excessively lengthy speech
Options:

1) Concision

2) Verbiage

3) Curt

4) Succinct

Correct Answer: Verbiage

Candidate Answer: Verbiage

QID : 289 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

An ornamented staff carried by rulers on ceremonial occasions as a symbol of sovereignty
Options:

1) Spectacle

2) Receptacle

3) Sceptre

4) Zephyr

Correct Answer: Sceptre

Candidate Answer: Zephyr

QID : 290 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Contusion

2) Contution

3) Cuntusion

4) Cuntution

Correct Answer: Contusion
Candidate Answer: [ NOT ANSWERED ]

QID : 291 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Scemitars

2) Scimitars

3) Scimetars

4) Scemetars

Correct Answer: Scimitars
Candidate Answer: [ NOT ANSWERED ]

QID : 292 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

Three times this was

X-only be compared to the deepest notes of thunder
Y-shook with the noise, that can
Z-repeated, and each time the earth
Options:

1) ZXY

2) YZX

3) ZYX

4) YXZ

Correct Answer: ZYX

Candidate Answer: YXZ

QID : 293 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

The causes and their
X-in the same series
Y-one order, they stand
Z-effects belong to the
Options:

1) ZXY

2) YZX

3) YXZ

4) ZYX

Correct Answer: ZYX
Candidate Answer: ZYX
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QID : 294 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

Sunita will bake two dozen cupcakes for the bake sale.

Options:

1) For the bake sale, two dozen cookies will be baked by Sunita.

2) For the bake sale, two dozen cookies is baked by Sunita.

3) Baking of two dozen cookies by Sunita will be done for the bake sale.
4) Baking of two dozen cookies by Sunita is done for the bake sale.

Correct Answer: For the bake sale, two dozen cookies will be baked by Sunita.
Candidate Answer: For the bake sale, two dozen cookies will be baked by Sunita.

QID : 295 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Indirect/Direct speech.

My mother said to my father, "l am very busy now."
Options:

1) My mother told my father that | am very busy now.

2) My mother told my father that she is very busy then.
3) My mother told my father that she was very busy then.
4) My mother told my father that | was very busy now.

Correct Answer: My mother told my father that she was very busy then.
Candidate Answer: My mother told my father that she was very busy then.

QID : 296 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

This was enough the book store-owner-turned librarian Husain to asses its valuable contents. "The preface of the book read: 'painters
technical knowledge to paint, but lack to understand nature, they fail to create a masterpiece,' points out Husain, adding, "All | in my
life is about books and from books. The grand library the palace is a cache of knowledge.”

This was enough the book store-owner-turned librarian
Options:

1) for

2) of

3)to

4) from

Correct Answer: for

Candidate Answer: for

QID : 297 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Thiswasenough________ the book store-owner-turned librarian Husain to asses its valuable contents. "The preface of the book read: 'painters
technical knowledge to paint, but lack to understand nature, they fail to create a masterpiece,’ points out Husain, adding, "All | in my
life is about books and from books. The grand library the palace is a cache of knowledge."

painters ________technical knowledge to paint
Options:

1) has

2) has had

3) have

4) to have

Correct Answer: have

Candidate Answer: have

QID : 298 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

This was enough the book store-owner-turned librarian Husain to asses its valuable contents. "The preface of the book read: 'painters
technical knowledge to paint, but lack to understand nature, ________ they fail to create a masterpiece,’ points out Husain, adding,"Alll _______inmy
life is about books and from books. The grand library the palace is a cache of knowledge."

to understand nature, they fail to create a masterpiece
Options:

1) if

2) that

3) hence

4) this

Correct Answer: hence

Candidate Answer: hence

QID : 299 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

This was enough the book store-owner-turned librarian Husain to asses its valuable contents. "The preface of the book read: 'painters

technical knowledge to paint, but lack to understand nature, they fail to create a masterpiece,’ points out Husain, adding, "All | in my
life is about books and from books. The grand library ________ the palace is a cache of knowledge."

Alll in my life is about books and from books.

Options:

1) learning

2) learned

3) to learn

4) learns

Correct Answer: learned
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Candidate Answer: learned

QID : 300 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

This was enough the book store-owner-turned librarian Husain to asses its valuable contents. "The preface of the book read: 'painters
technical knowledge to paint, but lack to understand nature, _________ they fail to create a masterpiece,’ points out Husain, adding,"Alll _______inmy
life is about books and from books. The grand library ________ the palace is a cache of knowledge."

The grand library the palace is a cache of knowledge.
Options:

1) from

2) at

3) to

4) off

Correct Answer: at

Candidate Answer: at
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